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PART-A

SENTENCE IMPROVEMENT

Directions; In this section, look at the underlined part of each sentence. Below each sentence are
given three possible substitutions for the underlined part. If one of them (a), (b) or (c) is better than the
underlined part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) or
(c). If none of the substitutions improves the sentence, indicate (d) as your response on the Answer
Sheet. Thus, 2 “No improvement” response will be signified by the letter (d).

1. Had she been hungry. she would have 6. 1 will be happy if you will buy me apples.

devoured the whole Tof of it. (a) buy
(a) Unless she had been hungry (b) bought
%b) However she had been hungry (c) will be buying
¢) Asif she had been hungry (d) No improvement
(d) No improvement 7. After] saved some money, [ shall go abroad.
2. Unti]l you don't finish the work, you won’t (a) shall save
be given leave. (b) should have saved
Ea% Until you must finish (c) have saved
b) Until finishing (d) No improvement
(c) Until you finish 8. Can you arrange the car\to be ready this
(d) No improvemefit " _evening?
3. The names of the'defaulters have been cut (a) arrange with the car
off the register. (b) arrange for the car
(a) cutout Ec) arrange that the car
(b) struck out d) No improvement
(g) struck off 9. Hardly had he reached home when the
(d) No improvement telephone Tang.
4. This is a matter I’d rather not talk about. (a) 'he had reached
(a) of which 1’d rather not talk about (b) |did he reach
(b) I rather not talk about }C) hie reached
(c) than I'd rather not talk about d) No improvement
(d) .No improvement 10. He is likely to win the elections by the
- sweepiny miajority.
5. g?lylwgleent you left I did sleep. (—a)—ﬁﬁﬁee e vty
%b) did lP sleep | | b) in sweeping majotity
(c) had I slept : c) by a sweeping majority
(d) No improvement d) No improvement

ORDERING OF WORDS IN A SENTENCE
Directions; Each of the following items in/this section consists of a sentence the parts of which have
been jumbled. These parts have%aeen labelled P, Q, R and S. Given below each sentence are four

sequences namely (a), {(b), (c) and (d). You are required to re-arrange the jumbled parts of the sentence
and select the cotrect sequence.

11. His uncle for success in life, alwﬁxs advised his son, who was a self-made man
' Q) (R)

to depend on his own efforts
(8)
The proper sequence should be:
SQPR

a
b R%SSP
¢) PR
QPS
12. The doctor did not like the behavior of the patients who was very com]%etent in his profession
when they talked at Ien;g_ -about their Froblems
The ;E{r%%er sequence should be:
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13. from leadership in culture in military situations and in face-to-face small groups

@ . Q
leadership has wide range of expressions 1o leadershl%)sm politics
- )
The proper sequence should be:
(a% RSQP
b) PQRS
c% RPSQ
(d) SQRP
14. Hesat glancing occasionally  peering through the window at the figure of the old woman

P Q) (R)
until he was chillgc? with the cold

S)
The proper squence should be:
(a) PSE:Q
(b) QRPS
?:) SPRQ
d) PRSQ

15. Afier the earthquake tremors, the TV showed a haggard man shaking hi?_, )ﬁsl at the sky

clambering ((38)31" the ruins - and collapsing wit?Re; howl of revolt = of his house émd factory
(5)

The proper sequence should be:

a% SRQP

b) QSPR

c% PQRS

d) RPSQ

16. Everyone ackn(%\;fledges when he cons(iggrs the case calmly who kno)ws you
(R
that you have(zsbeen wronged
)
The rog;r sequence should be:
Q

a) RS

b) RPQS
¢) PQRS
d) QRPS

SYNONYMS

Directions: Each item in this section consists of a sentence with an underlined word followed by four

words. Select the word that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

17. Many of his acquaintance$ avoid him 20. Inspite of hard work, the farmers could only

because he is so garrulous. get a meagre yield.
(a) unreasonable (a) satisfactory
(b) talkative (b) scanty
(c) quarrelsome (c) plenty
(d) proud (d) normal

18. He bore the pain with great fortitude. 21. He was exhilarated at the outcome of the
(a) resignation election results.
{b) defiance (@) satisfied
(¢) indifference a) saushe
(d) forbearance (b) surprised

19, He gegﬁlhis tacit approval to the proposition. (c) disappointed
a : .
%b)) ol (@) overjoyed
(c) clean

(d) implied

ol

(Contd.)
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22.

23.

24.

27.

28.

29.

ANTONYMS

Directions: Each item in this section consists of a sentence with an underlined word followed by four
words. Select the word that is epposite in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

He concealed his thoughts very cleverly.
(a) emphasized

(b) expressed

(c) affirmed

(d) revealed

The proposal was denounced by one and all.
{a) renounced

{b) recommended

(c) announced

(d) commended

She was skeptical about the safety of the
new drug,

(a) doubtful
(b) certain
(c) hopeful
(d) sanguine

25. The answers to the question were coherent.

26.

(a) relaxed

(b) loose

(c) consistent
(d) disconnected

It was no altruistic motive that prompted
him to help her.

(a) selfish
(b) inhuman
(c) brutal
(d) wicked

SELECTING WORDS

Directions: Each of the following sentences in this section has a blank space and four words or group
of words given after the sentence. Select whichever word or group of words you consider most
appropriate for the blank space and indicate your response on the Answer Sheet accordingly.

Man has won his dominant position on this
planet by his of technology.

(a) command

(b) emphasis

(c) belief

(d) stress

The day was extremely hot and, in no time,
my back was drenched with

(a) prickly heat
(b) perspiration
(¢) sores
(d) fatigue

The Government is encouraging village
upliftment in the country.

(a) programmes

(b) designs

(c) talks

(d) propaganda

30. Satish was endowed

3L

a natural talent
for music.

{a) in
(b) by
{¢) for
(d) with

Mr. Ghosh'is very happy __ his son’s
excellent result.

(a) for seeing
(b) to see

(c) by seeing
(d) see

32. Sunlight filtering the stained glass

window created a mosaic of colours on the
floor.

(a) in
(b) through
(c) at
(d) into
(Contd.)
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33.

34,

35.

36.

37.

Are you feeling doubtful ___ your 38. There was competition for electoral

decision? seats.

a) about (a) diligent

b) upon (b) rapid
(c) at (c) cut-throat
(d) for (d) sparse
I want to study Geology now for I 39. The cricket team mainly of State
Zoology for the last three years. players.
(a) am studying : (a) composed
(b) have been studying (b) consist
(c) had studied (c) made with
(d) had been studying (d) comprises
Incrqgsc in storage facilities has made it 40. His love for money is the only that
ossible to store goods at places drives him to wotk so hard, -~ ——
(g)pesoa%e all over the country. (a) programme
(b} easy (b) plan
(c) proper (fi) reaS(()ln
(d) convenient (d) gree _
To say that we were surprised at the  4l. According to sources, the Chief
clevergess oilf'lthe child isanugderstatement; %gf‘r}gg; oéxlilhigoists&gnsu“ his Cabinet
we were rea . :
(a) annctjyredy (a) intelligent
(b) astounded (b) simple
(c) flattered (c) reliable
(d) confused (d) fundamental

In spite of the old woman’s repeated
entreaties, he remained . :
(a) ashamed
(b) docile
(c) indifferent
(d) lethargic
SPOTTING ERRORS

Directions: Each item in this section has a sentence with three underlined parts labelled (a), (b) and
(¢)- Read each sentence to find out whether there is any error in any underlined part and indicate your
answer in the Answer Sheet against the corresponding letter i.e., (a) or (b) or{e). If you find no error,
your response should be indicated as (d).

42. Jamtold Johnisill since Monday. No error.
(a) (b) (c) (d}
43. Ishall leave school assoonas [shall findajob.  No error.
{(a} (b) {c (d)
44. Heisarichman: he is owning = a number of buildings in Bombay. No error.
(a) (B) (<) (d)
45, We were a(bl)e to make it ‘inspite of abad weather, No error.
a C
46. Neither of the t(w? letters of credit  were us;:fu_l when he(n;:eded it. No(%r)ror.
a - C
47. Little he realized that he wouldn’tlive to see his grandson married. No error.
(@) (b) I(cj (d)
48. Adifficult syllabus is supposed to hurt  juvenile mind. No error.
_ lai (B) (c) (d)
49. The voice of sanity and patriotism  are important to dispel  the Drevailin%gonfusion.
ia; (b) . C
No error. ¢
50.

You were poing to explain  your late arrival, isn’tit? No error.
(a) (b) (c) (d)
5

(Contd.)
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51

52.

53.

54.

PART-B

A brass ball is tied to a thin wire and swung
so as to move uniformly in a horizontal
circle. Which of the following statements
in this regard is / are true?

I.  The ball moves with constant velocity
2. The ball moves with constant speed

3. The ball moves with constant
acceleration

4. The magnitude of the acceleration of
the ball is constant

Select the correct answer using the code
given below:

() 1only

(b) land3

{c) 1,2and4
(d) 2 and 4 only

Two long wires gach carrying a d.c. current

in the same direction are placed close toeach

other. Which lene of the following

statements is correct?

(a) The wires will attract each other

(b) The wires will repel each other

{¢} There will be no force between the
wires

(d) There willibe a force between the wires
only at the\moment when the current
is switched ON or OFF

The first Indian Satellite, Aryabhatt, was
launched in the year:

(a) 1972
(by 1975
(c) 1976
d) 1979

Which one of the following sea routes is
the shortest from point to point?

(a) Kolkata to Yangoon
(b) Kolkata to Chennai
(¢) Chennai to Port Blair
{d) Mumbai to Colombo

n S— —
U clel [
CA .

1=

55.

56.

S

S8.

Which one of the following is rof a Green
House Gas?

(a) Water vapours
(b) Methane

(c) Ozone

(d) Carbon Monoxide

Muscle fatigue is due to the accumulation
of :

(a) Cholesterol

(b} Lactic acid

(¢) Lipoic acid

(d) Triglycerides

The absolute zero, i.c., temperature below
which is nof achievable, is about:

(a) 0°C

(b) 273K
(¢) 273°C
(d) [=300°C

Lightning conductors are used to protect

building from lightning strikes. Which of

the following statements is/ are true about
lightning conductors?

1. Lightning conductors create an electric
field at its top so that lightning strikes
it preferentially

2. . Lightning conductors reduce the effect
of the strike by uniformly distributing
the charge (current) over the surface
of the building

3. Lightning conductors take all charge
(current) to deep down in the earth

4. Lightming conductors must be installed
at a place taller than the building

Select the correct answer using the code

given below:

(a) land2

{b) 3 and4 only

{c) 1.3and4

(d) 4 only

(Contd.)




51,

52.

53.

54.
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59.

60.

61.

62.

63.

Match List I with List II and select the
correct answer using the code given below
the Lists:

List 1 List II
(Manufacturing site}  (Industry)
A. Ludhiana 1. Auto parts
B. Kanpur 2. Woollen garments
C. Varanasi 3. Leather
D. Vijayawada 4. Handloom
Code:

A B C D
@ 1 4 3 2
b 2 3 4 1
© 2 4 3 1
@1 3 4 2

Which one of the following is nof a sea
port?

{a) Paradeep

(b) Haldia

(¢) Diamond Harbour

(d) Dhamra

Consider the following reaction:

CH,(g)+H,0(g) 270K CO(g)+3H,(g)
In the reaction given above, the mixture of
CO and H, is:

(a) natural gas

(b) water gas

(c¢) producer gas

(d) industrial gas

Living things are grouped into subgroups
like plant kingdom / animal Kingdom.

Which one of the following is nof correct
for animal kingdom?

{a) Cannot make their own food

(b) Body contains cellulose

(¢) Do not have chlorophyll

(d) Migrate from one place to another

The silvering in thermos flasks is done to
avoid heat transfer by:

(a) Convection

(b) Conduction

{c} Radiation

(d) Both convection and conduction

67.

[ 17 -}

64.

65.

66.

The Manas National Park is situated in the
State of;

(a) Madhya Pradesh

(b) Jharkhand

(c) Assam

(d) West Bengal

Addition of gypsum to cement:

(a} reduces setting time of cement
(b) produces very light colour cement
(c¢) increases setting time of cement
(d) shiming surface is formed

in case of a compound migroscope which

of the following statements'is / are correct?

I.  The focal length of the eye piece is
larger than the focal length of the
objective

2. The focal length cf the eye piece is
smaller than the focal length of the
objective

3. - The image produced in a normal
optical microscope is real

4. The image produced in a normal
opiical microscope is virtual

Select the correct answer using the code

given below:

(a) 1only

(b) land 4

(c) 2and3

(d) 2and 4

Which one of the following statements is

not correct?

(a) The radius of curvature of a concave
mirror is twice its focal length

{b) Power of aconvex lens is negative and
that of a concave lens is positive

(c) The radius of curvature of a plane
mirror is infinity

(d) When a ray of light passes from an
optically denser medium to an optically
rarer medium, the angle of refraction
is greater than the corresponding angle
of incidence

(Contd.)
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63.

60.

6l.
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64.

65.

66.

67.
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4. . &l gEew gwIEE gesestt F §
afifars s @ 2
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(b) 134
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?
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2
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68.

69.

70.

71.

72.

Identify the place that is nof an oil field:
(a) Naharkativa

(b) Kalol

(¢) Ledo

(d) Ankleshwar

Ammenia (NH,) obtained from different
sources always has same proportion of
Nitrogen and Hydrogen. It proves the
validity of law of:

(a) Reciprocal proportion

(b} Constant proportion

{c) Multiple proportions

(d) None of the above

Which one of the following statements. s
not correct?

(a) If the velocity and acceleration have
opposite sign, the object is slowing
down

(b} Ifthe velocity is zero at an instant, the
acceleration should also be zero at that
instant

{c) If the velocity is zero for a time
interval; the acceleration is zero at any
instant within the time interval

(d) If the position and velocity have
opposite sign, the object is moving
towards the origin

The IST meridian 82'2°E passes through a

number of States in India. Which one of the

following sets of States is correct in this

respect?

(a) Uttarakhand, Uttar Pradesh,
Chhatisgarh and Andhra Pradesh

V (b} Uttar Pradesh, Jharkhand, Chhatisgarh

and Odisha

(¢) Unarakhand, Uttar Pradesh, Madhya
Pradesh and Chhatisgarh

(d) Uttar Pradesh, Odisha, Andhra Pradesh
and Chhatisgarh

Boric acid is an _acid because its molecuie:
(a) acceptsOH from water reieasing proton

(b) combines with proton from water
molecule

(c) contains replaceable H' ion
(d) gives up a proton

73.

74.

75.

76.

Who among the following discovered the
antibiotic producing fungus from
Penicillium genus?

(a) Louis Pasteur

(b) Sir Alexander Fleming

(¢) Stanley Prusiner

(d) Robert Hooke

Three equal resistances when combined in
series are equivalent to 90 ohm. Their
equivalent resistance when combined in
parallel will be:

(a) 10ohm
(b) 30 ohm
(c) 270 ohm
(d) 810 ohm

The following figure represents the velocity-
time graph'of a moving car on a road:

Velocity (m/s)
b
(o]

O Time (s)

Which segment of the graph represents the
retardation?

(a) AB
(b) BC
{c) CD
(d) None

Which one among the following places
is not an iron-ore mining area?

(a) Badampahar
{(b) Zawar

(c) Bailadila
{(d) Anantpur

(Contd.)
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69.

70.

71.

72,
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&1 KT ¥

(c) =aF v # whrearoefy H s+ 8%ar 8

(d) T A TF N B T 8

11

73.

74.

75.

76.

PreafaRee ¥ ¥ B YRl A @
Hfeamifes IcaeT FaF (Fg) W @ B 7
(a) < R

(b) BT IFARITST FAHAT

(c) ¥+ gRmT

d) T TF

d g gfedal @ Sl F d@afe w1
I e WY 90 ohm & | 3¢ §HIIR FA |
HOfE FT TX I geT v #ar g ?
(a) 10 ohm
(b) 30 ohm
(¢} 270 ohm
(d) 810 ohm

Ferifhd o [ 985 gt iaw™ F a1
] AN-GHG WH <ot @

AT (mss)
>
o=

o HqAY (s)

W H] BT G HeT A G e 37
(a) AB

(b) BC

(¢ CD

(d) #¢ FH
Preffed sl B R o, Ao
a4 &% J# e 7

(a) WRMHUES

(b) IR

(c) sanfden

d) I

(Contd.)
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77.

78.

79.

80.

81.

Match List I with List II and select the
correct answer using the code given below
the Lists:

List 1 List 11

(Forest Conservation (Place)

Type)
A. National Park 1. Dudhwa
B. Sanctuary 2. Bhitarkanika
C. Biosphere Reserve 3. Chilka
D. Tiger Reserve 4. Nokrek
Code:

A B C D
@ 2 3 4 1
® 1 4 3 2
) 2 4 3
@@ 1! 3 4 2

The main constituent of Vinegar is:
(a) Acetic acid

{(b) Ascorbic agid

(c) Citric acid

(d) Tartaric acid

White Phosphorus glows in the dark due to:
(a) amorphous character

(b) slow oxidation

{(c) high ignition temperature

(d) good conducting property of electricity

Which one of the.following is nof an
example of eukaryotic organism?

(a) Yeast

(b) Bacteria

(¢) Plant

(d) Human being

Which one of the following statements is
not correct?

(a) The Kelvin scale of temperature is
called the Absolute scale

(b) Visible light radiation has wavelength
range of 400—700 nm

(c) The capacity to do work is called power

(d) The wavelength of Gamma rays is less
than that of X-rays

. A man is sitting in a train which is moving

with a velocity of 60 km/hour. His speed
with respect to the train is:

(a) 10/3m/s
(b) 60 m/s
(c) infinite
(d) zero

. Match List I with List II and select the

correct answer using the code given below
the Lists:

List 1 List 11
(Place) (Normal vegetation
type)
A. Western Ghats 1. Tropical Moist
Deciduous
B. Himachal Pradesh 2. Tropical
Evergreen
C. Haryana and 3. Himalayan Moist
Punjab Forest
D Chhotanagpur 4. Tropical Thomy
Platcau Forest
Code:
A B C D
@ 2 3 4 |
b 1 4 3 2
{¢) 2 4 3 |
1 3 4 2

. The term ‘Regur’ is used to mean:

(a)" Laterite soil

(b} Deltai¢ soil

(c) Red soil

(d) Black cotton soil

. Graphite is a much better conductor of heat

and electricity than diamond. This is due to
the fact that each carbon atom in graphite:

(a) undergoes sp’ hybridization and forms
three sigma bonds with three
neighbouring carbon atoms

(b) undergoes sp® hybridization
(c) 1istetrahedrally bonded
(d) is free from van der Waals force

(Contd.)
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77.

79.

80.

81.

g I gl 18 g AR e gl 3

A Y ™ g W WA FY I g
T 1 T I

(7 GO FF) (¥T)

A. ATTE I 1. gEan

B. 3OO 2. Rracniomm

C. SiaHsa A=y 3. fae
(R Rad)

D. a1 fy=y 4. ATFGE

E A
A B C D

(@ 2 3 4 1

b) 1 4 3 2

© 2 4 3.

@1 3 4 2

et =1 qew wew wur @ 7

(a) TEfes 3

(b) Uerifen

(c) AR st

(d) zeR+ 3t

(c) I=9 SEe-aY

(d) fagd #1 388 gares o1

Frefofea 3.3 Fm o, ghReiRs oa
&1 IS qF & ?

(a) R (i)

(b) famg

(¢} TeY

(d) "4
??ﬁ%awﬁﬁ%ﬁﬂm@,@aﬂ
(a)- ngi%ﬁvaawmmﬂmm

(b) ggu;mﬁl%ma&aﬁﬁaim—'im:un
(c) T F AN evi vl FEaTd 3

(d) =Tl ot g X &Y aantdt
¥ F9 Bt 8

82.

83.

84.

85.

o WRT 60 km/deT B 3 A wlemEE Yo

H 951 &1 e B e IE AR a1 g v

(a) 10/3 m/s

(b) 60 m/s

(c) ¥

d) T¥

W [ g R gaRe ARl o g

A e w0 FE w1 wEm w1 ad Iox g
T 1 T u
() (AT FHE(Y T

A. i) o1e 1. IwrwfeEdty and

EGEK]]

B. Bared ®w 2. JoE e TeEia

C. sRumn X e 3. Rwed ad a9

D. SEFAMYE 81 4. IO ST Fza

aq

s
A B C D

@ 2 3 4 1

) 1 4 3 2

/2 4 3 |

@1 3 4 2

s’ v R R g o @ 2

(a) ST B

(b) STETEH HaT

(¢) @t T

(dy WA FUH g

ﬁﬁaﬁmmmaﬁ?ﬁq&"ﬂ@

0T I B | B %@ q@ & W @ fF

Ieree ¥ el FWA T

(a) sp*HHT § T # I A Prepeadt
HE TR a dF o ey
1T B

(b) sp’ FF { B

(c) SR IEfad Sar @

(d) dFST aeW o7 & T BT 8

(Contd.)
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86.

87.

88.

89.

Which one of the following vitamins is
synthesized in our own skin?

(a) Vitamin A

(b) Vitamin B

{c) Vitamin C

(d) Vitamin D

Which one of the following is the SI unit of
the thermal conductivity of a material?

(a) Wm'K~!

(b)) Wm/K

{(c) Wm'/K

(d}y Js'm'K

Which one of thedfollowing statements is
not correct?

(a) Conduction can occur easily in solids,
less easily in liquids but hardiy at all
in gases

(b) Heat energy is carried by moving
particles in a convection current

(c) Heat energy is carried by
electromagnetic waves in radiation

(d) The temperature at which a solid
changes into a liquid is called the
boiling point

Which one of the following combinations
of stalactites and stalagmites occurrences is
correct?

(a) Stalactites hang as icicles of different
diameters and stalagmites hang from
the floor of the caves

(b) Stalactites hang as icicles of different
diameters and stalagmites rise up from
the floor of the caves

(c) Stalactites rise up from the floor of the
caves and stalagmites hang as icicles
of different diameters

(d) Stalactites hang as icicles of different
diameters and stalagmites also hang as
icicles of different diameters

90.

91.

92.

93.

Which one of the. following is the correct

sequence about various levels of

organization of Biosphere?

(a) Ecosystem—Biosphere — Community —
Population

{b) Population — Organism — Eco system —
Biosphere

(c) Organism — Community — Population —
Biosphere

(d) Organism — Population — Eco system —
Biosphere

Which of the following are the properties
of an electron?

1. Electron is a constituentiof cathode ray

2. Electron is a negatively charged
particle

3. The mass of the electron is equal to
the mass of the proton

4. Electron is deflected by the electric
field but not by magnetic field

Select the correct answer using the code
given below:

(a2) 1 and 2 only

(b) 1,2and3

() 3and4

(d) land4

Carbon and energy requirements of
autotrophic organisms are fulfilled by:

(a) Photosynthesis

(b) Gluconeogenesis

(c) Glycogenesis

(d) External sources

The resistance of a wire of length / and area
of cross-section a is x ohm. If the wire is
stretched to double its length, its resistance
would become:

(a) 2xohm
(b) 0.5 xohm
(c¢) 4xohm
(d) 6xohm

(Contd.)
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86.

87.

88.

89.

Freafoft fed=t & @ @@ o, earll 90, Shawsa (aifkmer) & WA & T @l

ot @ F gl BT & 7
(a) R A
b faf= B
(¢) Fafm C
(d) Befm D

Frafafea § ¢ o9 o, B ged ) 3o
ARl B ST g § ?

(a) Wm'K!

(b) Wm/K

(¢) Wm /K-

(d) Js'm K

Freafafad a3 § 4 S oF et 9df 2 ?
(a) =T 3l H AT §, 761 § $9 I
¥ wog 6§ T 2 @

FoNg I, "WagT ara A afoAr &
g YaTiea gial &

FT e, R # faga
ARV (5 I 1

agmwﬁvwﬁ%&maﬁqﬁaﬁa
BT 8, Fauis Heal &

AR SR EAERe" ® 9¢ 5 &
Fr=fof w1 # § e o g9di 2 ?
(a) TAFTITEH ARFT |t d Thaal &
&9 H e B & IR LR TR
P ad § ded B &
woFeRed A o & anast &
&Y H o B & AT ESOATREH T
9 4 36 3 B
RAFCTIE (R P T 4 33 B @
A eovmrsey T wrmEl & awast
# &9 § o B 8
aFerrey At ol % awedl @
&9 # " B0 3 MY 'Ry
it el ® aoicldl 3 w9 & qed
Bd &

(b)

(©) e el

(d

(b)

(c)

(d)

91.

92.

93.

F g ¥ FAfeRa ¥ 4 S w, @d

FFA 8 7

(a) TRRERF - Marse — qaew — e

(b) wHEn — e — aRfRufes d7 - farsa

(c) WA - yYeH — FTEE — s

(d) g - e - aftfefes a7 - dadsa

Preafafr § A8, g S U ?

1. o[ Dot v & oo 2

2. TS RUCHS AT ATH] H §

3. TECF SngANT, W B g@HH B
TOE &

4, Foagd fagd &7 g e dar 2
q{=] gEET & g Aol

el T ®He F W F T IO I

(a) #ad 13K 2 |

(b) 1,233

(c) 38T 4

@ 1874

OIS Sial 1 T 3 FAT T AIFUHA

e g g et & 7

(a) TEhTET WIS

(b)), TR AaTTA (s AT

(c) TEERSAICIRT (TN )

(d) ST e

TS A @ FTe- TR At s P
AR F Wd7 x ohm B | TR X ¥ daR A
e QAT R W A e g R
81 R 7
(a) 2xchm
(b) 0.5 x ohm
(¢} 4 xohm
(d) 6 xohm
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94.

95.

96.

97.

Which cne of the following describes the
Lithosphere?

(a) Upper and lower mantle

(b) Crust and upper mantle

(¢) Crust and core

{d) Mantle and core

Which of the following statements
regarding heavy water are correct?

1. it is extensively used as a moderator
int nuclear reactors

2. Itcannot be used in exchange reaction
to study reaction mechanism

3. Viscosity of heavy water is relatively
smaller than that of ordinary water

4.  The dielectric'constant of heavy water
is smaller than that of ordinary water

Select the correct answer using the code
given below:

(a) land?2
(by 2and3
(¢c) 3and4
(d) 1and4

Conservation of momentum in a collision

between particies can be understood on the

basis of:

(a) Newton’s first law of motion

(b) Newton’s second law of motion only

(c) Both Newton’s second law of motion
and Newton’s third Jaw of motion

(d) Conservation of energy

Which one of the following statements is
not correct?

(a) Temperatures decrease from the
equator to poles

(b) Temperatures in equatorial regions
change substantially from January to
July

(¢) Large land masses iocated in the
subarctic and arctic zones develop
centres of extremely low temperatures
in winter

(d) Highlands are always colder than
surrounding low lands

98.

99.

To weld metals together, high temperature
is required. Such a high temperature is
obtained by burning:

(a) Acetylene in oxygen

(b) LPGin oxygen

(c} Methane in oxygen

{(d) Acetylene in nitrogen

Two forces, one of 3 newton and another of
4 newton are applied on a standard 1 kg body,
placed on a horizontal and frictionless
surface, simultaneously along the x-axis and
the y-axis, respectively, as shown below:

y-axis

> > X-axis

The magnitude of the resultant acceleration
is:

(a) 7 m/s?
(b) 1m/s?
(¢) Sm/s?

@ J7 /s’

100. Magnetic meridian is an imaginary:

(a) line along north-south
() point

(¢) wvertical plane

(d) horizontal plane

101. An up fold in rock is:

(a) graben
(b) horse
(c) anticline
{(d) syncline

(Contd.)




94. frafofen # & FE ©F, wemvsa w0 98, OGN B THETY 3 Fe4 B G IeT qm

Fofy w7 HETFA BN B | W7 I=w a9E Fad aeA
(@) F I Pt s (frew) q W g 7
(b) TH dx FT yER (a) oA ® fifedhs
(c) udd X A (b) ST F @ q AN
(d) AR &R Fs (c) e ® B2
95. wirdt o # wek ¥ Preafm wudi X R (d) AR # e
e e ? 99, Tt &fder ik o BT TOE 9 @ P
1. A ATt & fanes & wv & T 1 kg® T W IE R 4qea 3@
T AF &Y F gavT B @ I F: x-I% Ay P IRy gy
2. T g AR R % s T e §, S fF Sy e § qwtm ma @
& forg fRafa sl F =4 fen =
el T
3. T8 S Y ST, ST S Tl i
+I IWET FH BNl 8
4. I Sl FI YA, TG o
A § 7 o Aty i
13 % 73 oz F 9w F TR S T A
(a) 132 F,=4 N
(b) 233
(¢) 3384 SR o A qfeany wqr 2 ?
@ 1374 (@) 7 m/s?
96. W%Wﬂﬂgﬁﬂaﬂﬂmfﬁmﬁ?ﬂ% () 1 m/s?

A 9T GHH o Gl & 7 :
(@) =gTA FI M F g FEn (e)=5m/s
(b) A T Ui F e e Fram (d) 7 mys?

(c) =T F1 W F1 fada Frm i gz : _
) 1 1 g P, A 100, 517, argIIe:

(d) Fat =1 "Ey (a), IRV F ARW P Yar
97. Prefafer wesi ¥ e @6 8 T@ 2 7 (b) Freufrs famg 2
(a) RvEd 39 & g@ N I} g wea (c) FuPF Feata 7a 8
T 2
d) Freafas fes a= 2
(b) fayacia &= § S99 § gord & 4 @ «
A # W weeT By € 101.9% & 3gger #0 ear 2 7
(¢) 37 I gdw IR IR ghm wewn §F
s geq  weRdl ¥ iewg (@) A (i)
IHT FH AT B IR i B 2 (b) sowd ds (€)
(d) 3= i, Ha - A B R (c) =R
¥ Tt A ¥ @) SPER
17 (Contd.)




102.

103.

104.

Which one of the following gases is found

in highest quantity in Exosphere?
(a) Hydrogen

(b) Helium

(c) Nitrogen

(d) Oxygen

In blood, platelets are required for:

(a) transporting oxygen

(b) transporting carbon dioxide

(c) initiating blood clotting

(d) initiating degradation of urea

In ST unit of force ‘Newton® (N) is given by

(where m stands for metre and s stands for
second):

(a) 1N=1kg/ms?
(b) 1N=1kgm/s’
(c) 1 N=1kgs¥m

(d) 1N=1kgms?

105.The acceleration due to gravity ‘g’ for

objects on or near the surface of earth is
related to the universal gravitational
constant ‘G’ as (‘M"is the mass of the earth
and ‘R’ is its radius):

M
(a) G=8E§
M
) g=537
G
) M=—+
gG
@ R=

106.

107.

Match List I with List II and select the
correct answer using the code given below
the Lists:

List I
(Low-Latitude Climate)
A. Wet Equatorial 1.

List 11
(Characteristic)
Uniform tempe-
ratures, mean

near 27 °C
B. Monsoon and trade 2. Marked tempe-
wind coastal rature cycle with
very high tempe-

rature before the
rainy season
Temperatures
show an annual
cycle with high
temperature in the
high-Sun season

C. Wet-dry tropical__3.

D. Dry tropical 4. Strong tempera-
ture cycle, with
intense tempera-
ture during
high-Sun season

Code:

A B C D

(2 2 .3 4 1

(b) 1/ 2 3 4

€y 2 4 3 1

@1 3 2 4

Match List I with List IT and select the

correct answer using the code given below
the Lists:

List 1 List 1I
(Element) {Use)
A Li 1. Time keeper in
atomic clocks
B. Na 2. Batteries
C. K 3. Transfer of nerve
impulses
D. Cs 4. Control of the
water content in
the blood
Code:
A B C D
@ 2 3 4 1
® 1 2 3 4
¢) 2 4 3 1
@1 3 2 4




103,

104,

(c) ARGNA

(@) e

&, ] e g smawes oW § 7
(a) HFT-3EA

(b) FE IEAFATES-aEA

() TR T UFH 97 N LI FEA

(@) R * s Ede) 4 e
=H{AT

& F SIAES 2T’ (N) FI Freafifea & 9
fohereh g =gt T < e @ ? (SR meAt
g WX AT s & of qwvs )

(a) 1N=1 kg/ms?

(b) 1N=1kgm/s?

(¢} 1 N=1kgs¥m

(d) 1N=1kgm s?

105. 950 Y §eg o uar IED fwe aEgE

fer Teedia @ ‘g, FEEE Tl s
‘G’ & fohe TeIE, EwsiEd B (M 9L A
FeArE ST R TEd] Aoy 8) 2

(a)
(b)
©

(d)

19

106. 0 [+ g I Fifr e gt &
gﬁqnﬁﬁtﬂ%ﬁﬂﬁﬁ%:
g 1 g I
(Rt srerier Srearg)  (siverE)

A. 318 Rada 1. THYHIT TTIEM,

A @ 27 °C
B. #gT IR SR 2, Gegse drges 39
qaT qer ELCIIC I e G
q U It 3=
A
C. 3e-Y&F IO~ 3. TOHE i o
Ffeddy fearen & foest ==
o g ¥ I=9 am
Bl 2
D. 9% IWrhieadiy | 4. geet O9HA T,
S IR IS ;Y I
gAY F e
GERIRE G
Fe:
A B C D
{a) 2 3 4 1
by 1 2 3 4
(cy 2 4 3 1
(d/ 1 3 2 4
107. = [ g M3 g AT gl &
gﬁqgﬁamﬁﬁmaﬁwﬁﬁﬁm
Ll | T 11
() (374rT)
A. Li 1. o) uf3gt §
el
B. Na 2. def
C. K 3. ¥y e &
ST
D. Cs 4. QR T 3w #
fargar
=
A B C D
@ 2 3 4 1
® 1 2 3 4
) 2 4 3 1
i 3 2 4
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108.

109.

110.

111

112.

113.

114.

Which one of the following is not a site of
action in human body for the malarial
parasite plasmodium?
Ea) Liver
b) Kidne
(¢) Red blood cell
(d) Brain
The loudness of sound is related to:
(a) its frequency
(b) its amplitude
(c) its speed
(d) its pitch
X-rays are electromagnetic radiation whose
wavelengths are of the order of:
(a) 1 metre
(b) 10" metre
(c) 107 metre
(d) 107" metre

Which one of he following pairs of
properties of typical air masses is correct?
Air Mass Source Region
(a) Maritime : Warm oceans in
Equatorial &e equatorial zone
(b) Maritime Polar : arm oceans in
the tropical zone
(¢) Continental Less warm oceans
Tropical in the tropical zone
(d) Continental Moist oceans in
Polar the polar zone

The symbol of the element ‘Tungsten® is:
(a) Ta

by W

gc) Tl

dy Te

[n Egypt, ancientmummies can be found to
have their arteries intact due to well
preserved:

(a) mineralized blood

(b) fibroblasts fibre

{c) elastic fibre

(d) brown fat

Which one of the following statements is

correct?

(a) The image formed by a concave mirror
for an object lying at infinity is at the
principal focus, highly diminished, real
and inverted

(b) A ray of light parallel to the principal
axis after reflection from a concave
mirror appears to diverge from the
principal focus of the mirror

{c) The focal length of a spherical mirror
is double of its radius of curvature

(d) A ray of light travelling from a rarer
medium to a denser medium bends
away from the normal

115.

116.

117.

118.

9.

Which one of the following statements is
correct?

(a) Rutherford’s alpha-particle scattering
experiment led to the discovery of
electron

(b) JJThomson suggested that the nucleus
of an atom contains protons

(¢c) The atomic number of an element is
the same as the number of protons in
the nucleus of its atom

(d) The mass number of an atom is equal
to the number of electrons in its shells

Which one of the following statements is
not correct?

(a) Application of lime\makes the soil
acidic

(b) High acidity in soil is typical of humid
climate

(¢) Increasing soil acidity results in
declining soil fertility

(d) Arid climate is characterized by
alkaline soil

The (alkali metals have relatively low
melting point. Which one of the following
alkali metals is expected to have the highest
melting point?

(a) Li

(b) Na

¢) K

(d) Rb

Which one of the following is useful in
paper manufacturing industry?

(a) Fibrous plants

(b) Orchids

(¢) Non-flowering plants

(d) Plants growing in high altitude

Which one of the following statements is

not correct?

(a) In steady flow of a liquid, the velocity
of liquid particles reaching at a
particular point is the same at all points

(b) Steady flow is also called streamlined
flow

{c) In steady flow, each particle may not
follow the same path as taken by a
previous particle passing through that
point

(d) Two streamlines cannot intersect each
other

(Contd.)
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108. FAeafofeg o wvrar v, ame ik ¥ TR
T ST B R T e g

2
o =
/YT PP

%fi)) AR
& # yeerr e qag 2 7

gl
Eﬁ% o
EIGE

109.

c)
d) wu%! A

@ 1deTade

(b) 10 e oy 2
(c) 10°de xdt 2
(d) 10 DN i@

ﬁﬁrﬁt?{gﬂ?ﬁtﬁ%gwﬁf%
TH # § $1F9] Uh @g o
Y Fela T a7 :
(a) ¥4 Ry :  RuEdo o= ¥
HIST [EGHITT
(b) Y& gdim IuTEe N W o
FIIT TERTTT
(¢) ¥ERg - . IwEfdEdi AT N
Hicdea SISO RETHNTL
(d) weEdy gy - %“;:Ghﬁw
HERTY
TTECT' dcd H Yol FuT & 7
Ea) Ta
b) W

@ T

g 4,

110.

111. oo

?

112,

113. Tnﬁﬁrﬁwﬁﬁﬁm‘»aﬁa
mﬁ;rgmq@wrcﬁ%?

114,

2

115. Preafofea wot & 3 o w2 7
(a) EIRE D WHE-FU YA ydm R
JRUEEY TG # O gl
ﬁ%fm‘—r#mﬁaﬁmm%m
F e & weiT g 2
el Teg M oy wen @ A 3
gD TN B AF A e B wer &
fel T Y e dEn @ A
¥ oAl Y qEn ® FeeT A 2
116.wmﬁaaﬁww,aﬁaﬁ
?
(8) T I(wA & a1 sl B ol 2
(b)Y T A T TATY HT TERF
G
(c) Ta1 H sl w80 W & GRumTEaEy
&l At 9@ HH Bt T 2
(d) &I8F 97 O Sy # s
N7.4< agt & Toqis o 9 g
%lﬁ%mmﬁﬁﬁ%w
yfrwaw B sufee 2 7
(a) Li
{(b) Na
() /K
(d) Rb
118. Frefofes & & &7 @ #p9 Rt
ST A 9w S 2 7
(a) \T9IEIT 4EY -
(b) M¥3
(c). s1gedT urRY
(d) I=9 T A I @) wrew
119. Frefafea wo= % @ 917 wr ad 38 2 7
(a) T+ 73 3 yofRadl ya & frd Rifire
g 9 wga T T HO o 3w o
figalt o wwE B
(b) R yarE R vaE ft wgomw 2
() mﬁaﬁmﬁ,mmwﬁ@a
BF T art Padi &7 g Rig o
At i SEER A oft W g 2
(d) R 4TET TF qEt ) Al Fre qawd §
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120.

121.

122.

123.

124.

125.

- (b)

According to the Geo-scientists, the shape
of the earth is:

1. round

2. spherical

3. close to that of a sphere
4. an oblate ellipsoid

Select the correct answer using the code
given below:

(a) 2,3and 4
(b) 1,2and3
(¢) 1and?2only
(d) 3 and 4 only

The word ‘Secular’ was inserted into the
Constitution of India by:

(a) 44™ Amendment Act
(b) 52™ Amendment Act
(c) 42" Amendment Act
(d) 34" Amendment Act

Which one of the following is nef correct
in the context of balance of payments of
India during 2013-20147

(a) India’s exports were less than its
imports

(b) Trade balance was negative

(c) Net invisibles were positive

(d) Capital account balance was negative

Which one of the following continents

accounts for the maximum share in exports

from India?

(a) Asia

(b) Europe

(¢) Africa

(d) North America

The two provisions ‘of the Constitution of
India that most clearly express the power of
judicial review are:

(a) Article 21 and Article 446

(b} Article 32 and Article 226

(c) Article 44-and Article 152

(d) Article 17 and Article 143

Which one of the following statements
about Subsidiary Alliance devised by Lord
Wellesley in the year 1798 is nof correct?
(a) The territories enterinE into a
subsidiary alliance with the British
were responsible for their own internal
and external protection
In the territory of the ally, a British
armed contingent would be stationed
The ally would have to provide the
resources for maintaining the British
contingent in the territory
The permission of the British was
needed for the ally to enter into
agreements with other rulers

(©)

(d)

22

126.

127.

128

129.

Who among the following was associated
with the Mughal Court as a physician to
Prince Dara Shukoh?

(a) Hakim Afzal Khan

(b) Ibn Battuta

(c) Francois Bemnier

(d) Duarte Barbosa

During the Eleventh Five Year Plan (FYP),
agriculture sector in India witnessed a
growth rate of 3.3 per cent per annum which
is higher than 2.4 per cent per annum in the
previous FYP. This is largely due to better
performance of:

(a) Crops and Livestoek
(b) OQilseeds and Fibres
(c) Fishing and Oilseeds
(d) Fibres and Fishing

An emergency under Article 352 of the
Constitution of India can be declared only
during:

(2) . War, external aggression or internal
disturbance.

War, external aggression or armed
rebellion.

(b)

(©)

Failure of Constitutional Machinery in
the State.

Financial instability in the country.

(d)
Which of the following siatements about

the Livestock sector in India is/are correct ?

1. Livestock contributed about 25 per
cent of gross value added in agriculture

2. It provides self employment to a large
segment of population

3. Rapid growth of livestock sector can
be egalitarian and inclusive

Select the correct answer using the code
given below:

(a) 3 only

() 1and2only
(¢) 2and3 only
(d) 1,2and3

(Contd.)
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121.

122.

123.

124,

125.

4, T e

T o IR SR ¥ g gai
s gra sa-enfe Ty a7 7

(a) 449 €Tes sffag

(b) 52ai way= sfafaw

(c) 4291 Mg ffraw

(d) 34at g s

(b) NR HgeH HUCHS o
(c) Traq agey gmews &
(d) Y oEr BT BORES 97

PR & 8 e mery = Rer |
B9 ) T 3 S b o
)

(c) 3mhaT

(d) I8 sl

I & gfAE & < Iusy S geins
m?gﬁﬁﬁwﬁsﬁﬂﬁmﬂ%?
(a) STRT2L T SR 446

Lo
3 fefear gwren
ﬁwéﬁﬁ%mwgﬁf

TErey g s Tuda ¥ Rftw e
P AT & O HETET Iy
et

CERER ] AEH H LREIGY
?%mﬁ%wﬁ%aﬁh

126.

127.

128.

Fre=tioea & & 7, et TER F 9 TIEAR
T Rre & Ffdcas & &9 F g1 a1
(a) &I AFA G

(b) = =g

(c) wiEn sfHue

(d) T e

TREd YauE A9HT (FYP) % RE, wikd
H P & ¥ 3.3 wiowe ufy af  afy ex gl
B, o & Rt FYP & 2.4 witwra @ afds 21
8 IEFT: s /fhae Izt Praes &)
398 4.8.°

(a) et A TgET

(b) foeeT T W

(c) FTRW I faces

(d) 3 A Acegusy

WY @ HIAEA S Fe0T 352 % el
I U dhad fhae Qa8 g & 7
(@) Ts, 9@ a0 a1 Fias sy
(b) g, Wi I AT gIRA fagdiE

(c)/ =Gl ® HildwHs 77 7 fwed

(d) 3 ¥ fachy sferean

129, i oAt & 4 a8 wwg ¥

THT o % aR F wd 3/F 7

1. 3N 7 4R swa [ &1 anam
25 gfderd Qe waET A Rar @

2. BTG P TE §3 A T T&-AeA
JucTed FUTT & _

3. ugua & ¥ A ofy aeaEr o e
gl gdl 2

M RY T e w1 R FT wE IO
(a) ad 3
(b) Faq 132
(c) *ad 23 3
(d 1,233
(Contd.)
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130.

131.

132

133.

Which one of the following statements
about Khilafat Movement is #ot correct?

(a) The Khilafat Movement demanded
that the Khalifa must retain control
over Muslim holy places

The radical trend in the Khilafat
Movement was represented by younger
leaders like Muhammad Ali, Shaukat
Ali, and Maulana Azad

Indian Muslim leaders used Khilafat
as a symbol that could unite the Indian
Muslim community

(d) The Delhi conference of the Central
Khilafat Committee in 1920 decided
to launch a massive.Non=Cooperation
Movement

®

(©)

Which one of the following is not correct

in the current Indian scenario?

(a) Life expectancy is on the increase and
is about 67 years as of now

(b) Infant mortality rate is on the decline
and has reached 47 per thousand

(¢) Maternal mortality rate (MMR)is on

the rise due to lack of medical facilities

(d) Percentage of women giving birth in

health institutions is on the rise

The Fourth Schedule to the Constitution of
India deals with:

(a) provisions related to the administration
of tribal areas.
(b)

allocation of seats in the Council of
_ States.

(c)

(d)

Concurrent List.

recognized languages of the Union of
India.

The British Officer who was a representative
of the Governor General and who livedina
State which was not under direct British rule
was called:

(a) Collector

(b) Viceroy

(¢) Resident

(d) Agent

the Unton List, the State List and the -

134,

135.

136.

137.

Which of the following features of the

Permanent Settlement of 1793 is / are

correct?

1. The Permanent Settlement vested Land
ownership rights in the peasants

2. The Permanent Setilement vested land
ownership rights in the Zamindars

3. The Zamindars had to pay a fixed
amount of rent by a particular date

4. The Zamindars benefited hugely from
the Permanent Settlement while the
peasants suffered

Select the correct answer using the code
given below: -

(a) 1 only

(b) 2and 3 only

() 4

(d) 1,2and3

The Vijayanagara Empire received its death
blow at the battle of:

(a) - Talikota in 1565
(b) Panipatin 1661
(c) Talikota in 1665
(d) Raichurin 1510

The ‘Basic Structure Doctrine’ was
enunciated by the Supreme Court during the:
(a) Golak Nath case

(b) Maneka Gandhi case

(¢) Kesavananda Bharati case

(d)" S R Bommai case

Consider the following statements about the

travellers who visited India:

1. Abdur Razzaq Samarqandi from Herat
visited Delhi and Daulatabad.

2. Ibn Battuta provides detailed accounts
of both Delhi and Daulatabad.

3. According to Francois Bernier there
was no private property in land in
Mughal India.

Which of the statements given above is/are

correct?

(a) 1only

(b) [,2and3

{(c) 1and3only

(d) 2 and 3 only
(Contd.)
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130. fore FiQAA & SR ¥ Prafafee ¥ @
FTE G T T AEF R
(a) Temer e A =i & B @i w1
P srawy & ool & of¥w wet
T @
R wider ¥ 3w wafty #1 vt
e Ieh), Tierd sl @ Ao see
S g e g gen
R JEem Jurt 3 Ry & o
TR P w9 H v B @ Rt d
A TR 1 §0fda frar w1 g
1920 % 3 foera wlfy & R
WHAT 3§ UF fawmer smsnT At
& FA 1 Aol o

131, s et ofkgea & il & & siear

T G @R 7 |

(a) g FHIST &@ &t & U7 A T2 S
679 &

(b) Prg Fegex we @ & /47 9 EwC
e 8

() #g &t (MMR) fafeear
3G 4l 395 § 93 @ B

(d) wrem et § 999 e 9l uRewRi
1 9fa9K 52 @ 8

132. 9@ % g # D0 e Y gay
wh e 7
(a) TN & P g ¥ Geitg usy
(by Tsgaw ¥ @Y 7 e
(c) ®Y §H, T g wd wHGE g
(d) WA & €9 A wraa S

133, TR SR o gy e sferd o 3
T # Gl a1 B veaw RBlRe me @
= T8 w1, T Feawn a1 ?
(a) FEFX
(b) arEUY
(c) W=
(d) iz

(b)
(c)

(d

gﬁmﬁ%

25

134, 1793 3 fox vl s & Preafofg wert

H Y PAaa e 280

1. ﬁwr&raﬁaw%ﬁa@aaﬁm
¥ fyfga B .

2. Rl RQww 3 yEiee aier
gfe ¥ PR famr

3. RR B o faRdme R 9 o o
o Frgita @ o s 8 €

4. R sdess ¥ wlieRt #1 Ay
@nmﬁ:@m@raﬁwﬁ@n

ﬁ%ﬁﬁnﬁmwmwaﬁrwﬁ

(a) Fad |

(b).. Bac, 2.3 3

(c) 4

(d 1,233

ﬁawmruvtmﬂmmﬁmgai‘r

§3ﬂ?

(a) arferpreT ¥ 1565 ®

(by wHd # 1661 #

(c) TMRAFRET I 1665 A

(d) =X H 1510%

SUTE FE i’ (3w coae sife)

I=HTH AT gt fhe A @ o= el

fopar mar ?

(a) TS T AT

(b) FFF nidr A

(c) FEEA—T WIS ATHAT

(d) THIHT. g 7IHAT

G Y7 9 30 A & e F Preaffag

FUAT O fer SR -

1. =0 & gl qoeed 3 Reedt aun
TG BT w0 foa

2. T aq@ Re qun e AT &
frega cren Sumew wm @

3. Wi AP F SrER, g wike F oy
% F¢ Proft afy 7€

SHH FUET A § AL w3
(a) I |

(b) 1,23 3

(¢) FaT 133

(d) Fad 233

135.

136.

137.

{Contd.}
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138.

139.

Which of the following statements about hill

stations of colonial India is/are correct?

1. The architecture of hill stations sought
to recreate the European style

2. Hill stations were developed as
sanitariums where soldiers were
treated for illness

3. Shimla became the official residence
of the Commander in Chief of the
Indian Army

4. In 1864, Shimla had to be evacuated

because of a Typhoid epidemic

Select the correct answer using the code
given below:

(@ 1 only

(b) 1,2and3
{(¢) 3and4

(d) 2and3 only

Match List I with List II and select the
correct answer using the code given below
the Lists:

List 1 List 1I
(Dynasty) (Architecture)
A. Chalukyas 1. Sun Temple,
Konark
B. Hoysalas 2. Pattadakal
Temples
C. Pandyas 3. Kesava Temple,
Somnathpur
D. Eastern Gangas 4. Eastern gopura of
Chidambaram
Temple
Code:
A B C D
@1 3 2 4
1 2 3 4
© 2 4 3 1
@2 3 4 1

140.

141.

142,

143.

144,

The Senia tradition is:
(a) musical tradition that emerged from the
colonial army (Sena)

(®)

dance drama written by Keshab
Chandra Sen
textile tradition of eastern UP

musical tradition that invoked the name
of Tansen, the celebrated musician of
Akbar’s Court

(c)
(d)

Who among the following founded the
Rajahmundri Social ReformiAssociation in
1878 in support of widow remarriage?

(a) Vishanshastri Pandit

(b) Ishwar Chandra Vidyasagar

(¢) Pandita Ramabai

(d) Veeresalingam Pantulu

The SAARC Secretariat is located at:
{a) New Delhi

(b) Colombo

(¢) Kathmandu

(d) Karachi

The 19" Century Faraizi Movement in
eastern Bengal developed under the
leadership of:

(a) Titu Rai '

(b) Haji Shariatullah

(c) Shah Sayyid Ahmad

(d) Dudu Miyan

The Indian States Commitiee was formed
in 1928 under:

(a) The Raja of Junagadh

(b) lan Copland

(c) Sir Harcourt Butler

(d) Motilal Nehru

(Contd.)
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138, PRRE Wi 3 i @ F Ay §

Prevffea wa & § Fra/8 o 38 °
1. vl =l A argEen 3 gdg feh
= g1 +3 w1 B
2. vadE R AR $ e F ek
b man <t A A drdt w1 I

BT o |

3. WG ¥ P FHST T W% & gCH
Imary e g7

4. 1864 ® Rmem #1 egwsE WeWTH A
98 § W Q4T YET

A oY T He H AT HE ST I
(a) PHawA
(b) 1,28 3
(c) 33T 4
(d) T 28R 3
139. =t I gl 11§ ghfera i s g &
A Ry o e Fi wEn weoas 39T g
T T 11
(o) (IGHAT)
A. TTIH 1. gf "Rz, Fms
B. gwEd 2. TS AT
C. uigg 3. $9E Hfew,
RFTY
D. @ i 4. ey e =
g
T
A B C D
@ 1 3 2 4
b 1 2 3 4
) 2 4 3 1
d 2 3 4 1

140.

141.

142.

143,

144.

A g A g 7

(a) ofrafm v 3 P wila

(b) F9E w75 8 g0 ol o e

(c) T gH N wF q€4 TUq

(d) IFET & TWIC &+ T s a=a
F AW @ T I Rl gl g

fwan gafdare & wwda & 1878 % Prwlifa

A9 e Tl S R caiteee #

TIGAT B ?

(a) Rwreed dfdq

(by Seat =g, e

(c) dfear. v

(d) reaerr vy

SAARC afarey @i Reug & ?

(2) 72 ek

(b) | =IeTeay

(c) g
(d) &=

1941 BiIss] 1 ot s F FeEe ke
fres Fgea o fasfia gon ?

(a) & @

(b) \ it wfagee

(c) & quT e

(d) "qg, ot

WG 50 affe &1 1928 F weA e
HET B T ?

(a) AT T I

(b) TH FHAs

(¢) T BHIE FeeTt

(d) Axiena AsE
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145. The Panchayati Raj system under Part-IX 148. Which one of the following was the theme

of the Constitution of India does not apply of the “International Day of United Nations
1o the States of: ' Peacekeepers™ for the year 20157

(&) Assam, Mizoram and Nagaland (a) Peacekeeping is a Global Partnership
’ g (b) UN 70 and UN Pecacekeeping: Past.

(b) Nagaland, Meghalaya and Tripura Present, and Future
(¢) Nagaland, Meghalaya and Mizoram (c¢) Women in Peacekeeping
(d) Sikkim, Tripura and Meghalaya (d) A Force for the Future
146. The First Five Year Plan (1951—1956) was 149. Indian athlete Vikas Gowda is associated
drafted by: with:
@ PC Mahalanobis (a) Wrestling
(b) KNRaj (b) Sprint
(¢) JC Kumarappa (c) Discus throw
(d) Jawaharlal Nehru ‘ (d) Archery
147. Who among the following is the author of 150. The 19" Federation Cup National Senior
the book, “Pakistan Paradox: Instability and Athletic Championships (2015) was held in:
Resilience”? (a) Karnataka
(a) Christophe Jaffrelot (b) Haryana
(b) G Parthasarthy (¢)  Uttar Pradesh
(c) Imran Khan (d) Kerala

(d} Mamnoon Hussain
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145,90 & WRuT ® qF & adly vt 14899 2015 “wym wee iRy e @
feag FPreafufee

T A B el A Ay e ? ﬁ'-i'g-i" R
(@) 3, PR qar amdts W w
(a) wifvermr o gl TR 2
(b) T, Fere Fur By (b) UN 70 @41 UN wiifaesvr : sfg, adey
(c) s, e R w s T
@ Fofew, Bga @ e . () wieE # wigeq
146, el deradfa AT (1951—1956) F1 g (@ & B o o
e St B w7 149. sty ferens fasmer et e o3 gu # 7
@) . TR (@) T | T
(b) FT. T | (b) 9 A5 (Rre)
© Y& Trw () =% BT (feerw o)
(d) YEEET Few (d) darn '
147. Frefifda & ¥ e arfer Sae - 150. 1938t %o =9, Fyra SR wfs
mwﬁm"wwﬂ TR (2015) ' &2 o 7
@ T nad | b s
(b) . arefaredt ()~ STRRW
(c) ¥TUA @ (d) 3
(d) #7777 g8 |
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Note : English version of the instructions is printed on the front cover of this Booklet.
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